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Class 8 Maths
Chapter 9
Ex9.1



Question 1.
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Question 2.
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Subtracting 0 from both sides :
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Questiqn 3.
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6x +4x + 3x =13 x 12
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T3 =713  (Dividing both sides by 13)
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Question 4.
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Verification :
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Question 6.
x+2) (x+3)+(x-3)(x-2)-2x(x+1)=0
Solution:

X+2) x+3)+(x-3)(x—-2)-2x(x+1)=0
X2+ (2+3)x+2x3]+[x2+(-3-2) x+(-3) (-2)] - 2x2-2x =0
2> X2+ 5Xx+6+Xx2-5x+6-2x2-2x=0
SX2+X2=-2x2+5Xx—-5x—2x+6+6=0
=-2x+12=0

Subtracting 12 from both sides,
2x+12-12=0-12

=-2x=-12

Dividing by -2,

X=6

Verification:



LHS.=(x+2) x+3)+(x 3)(x 2) 2x(x+1)
=6+2)(6+3)+(6 36 2) 2x6(6+1)
=8x9+3x4 12x7

=72+12 84
=84 84
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Question 7.
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Question 8.
i +35= %
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Subtracting 35 from both sides,
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(By cross multiplication)
7x10 70 =70
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Question 9.
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Solution:
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(By cross multiplication)
= Dividing by 3
(-8x-+1)x3  1x15
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Subtracting 1 from both sides,
-Bx+1-1=5~-1=2-8x=4
Dividing by -8,
-8x 4 1

T T S

-8 -8 -2
-1

oy = —

2

= -Br+1=5

Verification :

LIS, = 2x-1 6x -2
3 5

2 )




Question 10.
13(y-4)-3(y-9)-5(y+4)=0
Solution:
183(y-4)-3(y-9)-5(y+4=0
=13y —-52-3y+27-5y-20=0
=13y-3y—-5y—-52+27-20=0
=13y -8y—-72+27=0

=0y —-45=0

Dividing by 5,

y=9

Verification:

LHS. =13(y-4)-3(y-9 -5(y+4)
=13(9-4)-3(9-9)-5(9+4)
=13x5-3x0-5x13

=65-0-65
=0
=RH.S.
Question 11.
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8x—3x-40+6=54 2

12 2
(LCM. of 3,4, 2= 12)

Ox12
5x—34=—2— =0 x6=>54

5x—34=54 Adding 34 to both sides
5x-34+34=54+34

88
=y 5x=33=>x=?






